SER

BJHusqvarna =7 @) -2

A ) 10300034

IPL, Royal 153 S3, 2003-01, 106 29 95-61

Royal 153 S3

Spare parts
Ersatzteile

Pieces détachées
Reserve onderdelen
Repuestos
Reservdelar

106 29 95-61
________________________________________________________________________|



H] Electrolux ELECTROLUX OUTDOOR PRODUCTS

brand | HUSQVARNA date NOV/02 SHEET 1/2
Model Product number
R153S3 9538770-06

(HjHusqgvarna

K] The Electrolux Group.The world’s No.1 choice.



ELECTROLUX OUTDOOR PRODUCTS

[ Electrolux

brand | HUSQVARNA date SEPT/02 SHEET 2/2
R153S3
Pos PN ELX Q.ty Note Pos PN ELX Q.ty Note
1 I 1
1 5312107-70 1 50 5312105-80 4
2 5312058-63 1 51 5312050-42 4
3 5312058-61 1 52 5312066-44 4 DIN 137B 13x0,8
4 5312088-44 4 TCTC 2f @ 5x16 53 5312052-14 8
5 5312106-06 1 54 5312107-61 2 @ 210/26
6 5312051-69 ! 55 5312079-78 1 M10
7 5312071-65 ! Me 56  5312079-86 1
8 531204961 ? 065 58  5312066-53 2 1,8x33
9 5312084-91 1 M6-H8 UNI 7473-ZB 59 5312049-06 5 o8
10 5312105-73 1 60 5312087-72 6 @ 12E DIN 471
11 5312057-77 1 Drive cable 61 5312088-59 ) 2 12.417/0.3
12 5312079-23 1 62 5312058-59 1 DX
13 5312079-37 1 TCTC 3,9x 16 63 5312078-47 2 @ 12/34/0,7
14 5312080-43 1 64 5312087-78 2 @ 12/28/8
15 5312082-17 1 TCTC 2f @5x25 65 5312058-60 1 SX
16 5312051-39 1 66 5312066-52 2
17 5312078-36 1 TE M5x25 67 5312057-34 1
18 5312066-66 4 5/15/1,5 68 5312076-97 1
19 5312084-92 2 Ms 69 5312077-00 1
20 5312051-91 1 Brake cablé B&S 70 5312052-16 4
2 s« g gl e
23 5312049-04 2 085 73 sat2067-01 1 P00
24 5312058-40 4 75 5312057-76 1
25 5312079-82 7 M8 UNI 5587 76 5312105-78 2 0 170/26
26 5312055-81 2 77 5312107-77 1
27 5312107-43 1 78 5312055-36 2
28 5312049-21 2 M8x25 TTSQ 79 5312078-48 1
29 5312065-18 1 80 5312115-72 1
30 5312065-31 1 81 5312072-43 1 17,2/50/1,5
31 5312065-25 1 82 5312072-37 1 11/50/2,5
32 5312108-24 1 83 5312066-49 1 @ 3/8"UNF x 65
34 5312107-79 ! 84 5312083-80 1
35 5312107-78 ! 85 5312083-83 1
36 5312057-41 4 TTSQ M8x16 86 5312078-38 1 TE 5x16
37 5312079-81 10 @ 8E DIN 6798 87 5312107-25 .
39 5312071-07 2 TE M8x60 UNI
5737-INTEK 88 5312057-74 1
39 5312057-68 1 TEMBXI0 UNI 5737 89 5312057-87 2
40 5312049-07 ; 4X3\'/50 lEJ)glLst'e__soe 20 5312065-45 1 Throttle B&S
42 5312078-56 20 TEFR 5x10 ‘. SO ;
TRILOBATA 92 5312108-19 1
43 5312057-51 1 93 5312007-90 1
44 5312065-16 1 94 5312111-12 1
16 5312065-20 ; 95 5312084-92 1
47 5312107-72 1 % 581210817 1
48 5312057-15 1 4 >312115-01 1
98 5312063-46 1
49 5312058-48 1 99 5312115-91 1

(HjHusgvarna

K] The Electrolux Group.The world’s No. 1 choice.



